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Abstract

The derivation of the differential decay rate for a 07— 0T decay is given. Recoil order correc-
tions are included and, where possible, so are massive neutrinos. Familiarity with the Dirac equation
and Feynman diagrams is assumed; however, given that, the steps in the calculations are explicitly
written out in gruesome detail so that the reader can easily follow the derivation.

The main purpose of this report is to formally outline the theory behind the 8 decay of a
superallowed decay (i.e. 3¥™mK). The other purpose of this paper is to clarify what should be — and
help explain what has been — put into my Monte Carlo for TRINAT’s § — v correlation experiment.

Developments towards including polarization have been described in an earlier paper [1]. If I
ever find the time, I'll merge them and embellish the theory for GT decays; so then I would describe
all of TRINAT’s 36 37 38mK experiments and explain how it they are all implemented under my MC.
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1 Notation and Convention

As per Halzen and Martin [2], we take the y-matrices to be:

I 0\ - [0 & (0 I

where & are the Pauli spin matrices and I is the unit 2 X 2 matrix.
We will also make use of the Dirac spinors

ur(p)_\/E+m<g.>§T >, E>0,r=1,2 (2a)

E+mAT

vr<p)=¢|E|+m<lEgﬁm¢r>, E<0r=12 (2)

where the x and ¢ spinors carry the spin of particles and anti-particles respectively; explicitly, they
are given by:

spin up spin up
1 0 0 1
X1 = 0/’ X2 = 1) and ¢1 = 1) ¢2 = 0)" (3)
spin down spin down

The Dirac wavefunctions are normalized such that:

The adjoints for wavefunctions (v) and operators (I") are:

) =~%f (5a)
and T =ATT4° (5b)
Some useful relations include:
()P =-*=4%=1 (6a)
(Y =", () = (6b)
Vs = =57 (@e(p)" = ur(p) (6¢)
Z ur (p)ur(p) = p+m, (6d)
spins
and Z vr () (p) = —p+m, (Ge)
spins
where b =puy*. (61)

Throughout this report, terms of order 1/M and 1/M’ are retained while higher powers (e.g. E2 /M?
and k?/M'?) are considered negligible; any time an approximation is applied, it will be noted by =~
if not stated explicitly. All approximations are made to first order in their Taylor expansions; the
three used in this report are:

(1+2) 2 =1+ 104+ 0(?) (7a)
(1+2)7 =17F Lz + O(?) (7b)
and (1+z) '=1Fz+0(x?) (7c)

Finally, I work in units where A = ¢ = 1; but I do not set m, = 1.
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Figure 1: General Feynman diagrams for the 0*— 0% 3+ decay of {X — Z7}Y +e* +v, as mediated
by a massive boson. The expressions for the propagators for both the vector and scalar interactions are
given below their diagrams. For 3~ decay, we need to lower isospin in the hadron current (74 — 7_),
change the direction of the lepton current and take the Hermition conjugate of its vertex parameters

(giving 215?7 (Cy + C}75) and 21%7 (Cs + C4s5)).

2 The Matrix Element of the Decay

The matrix element for 3% decay is:

éan+Mg. (8)

where My and Mg are calculated using the Feynman diagrams of Figure 1. The four-momenta of
the particles are:

Mg =

(M, 0), decay is from rest

= (), = VER
pe=(Be,=p.), ||l = VEZ—m2

and p, = (B, ~p,),  |7|= VEZ-mZ.

First, we use the diagram depicted in Figure 1(a) to get the matrix element for vector interactions:

) — i *i(guv - QJCL[?V)
—iMy =Py (k) [= = T4 ]ox (p) X W

X Ee(pe)[ 219[1”’7 (Cy + C{f'yg,)]ibl,(p,,).

It is safe to assume that the momentum transfer, Q% ~ (5 MeV)? < (80 GeV)? ~ M3, In this

limit, the propagators reduce to constants: A‘Z“” and M§ . Therefore, we get for vector interactions
w

My s Dy (0772 x (0) _4“"]\3%” Bo(p)V” (C3r + Cis ) (py) (9)

For scalar interactions, Figure 1(b) gives:

—iMg = ¥y (k) [ii/%w 7+ |¥x (p) Qz:izw

X De(pe) [59(C5 — C§5) ] (1)
_g2 _
Mﬁﬁ@*WUHW@ﬂ%WMM%—@Mmm) (10)

Here we have assumed that the scalar and vector couplings are equal (g,,) and that the mass of
the new boson W1 = W™, the Standard Model vector boson.

new



2.1 The Hadron Current

Now let us concentrate on the part involving the hadrons. Let us for simplicity assume that the
nucleus can be described as a Dirac particle, with minor adjustments due to nuclear structure and
isospin selection rules. With that in mind, we break up the nuclear wavefunctions as:

wX (p) = Us (p) wspawiso
=Vv2M (EE’SX ) wspawiso (11)

and '(/}Y(k) = IspavisoﬂT(k)
= ,Spa /iso E'+ M’ (Xi %}\’EI)/XJL”) (12)

Here, 9spa, w;pa represent our lack of knowledge of the spatial structure of the nuclear states, and
Yiso, Yl are the isospins of the system. To deal with these nuclear effects, and since Gamow-Teller
decays (which flip the spin of the decaying nucleon) are a different class from the Fermi ones, one
defines the Fermi matrix element:

MF = <wilso|7-i|1/]is0> <wépa|¢spa>' (13)
If my guess is right, the Gamow-Teller one would be given by:
Mer = <¢i/so|7-i‘¢iso> <w;pa‘§|w5pa>v (14)

but this is only a guess!!

The strong force is invariant under rotations in isospin space, so it doesn’t care that a proton
has transformed into a neutron; since the spin and parity of these are both 0T, we don’t expect that
the wavefunction of the decaying nucleon (or the rest of the nucleus) will be signficantly perturbed
during the transition. Therefore, this overlap integral should be very close to what we assume will
be unity. In order to calculate Mg, we just need the isospin component, which is easily calculable
in the 0t— 0% cases (T'=1,T3 = -1 — 0):

Mp=(10/T(T+1)—T5(Ts £1)| 1 - 1) (15)
=/1(2) +1(0) (10 10) (16)
Mp =2 (17)

OK. We now have expressions for the nuclear wavefunctions, and so can evaluate the hadron
currents, My and Mg. We get the hadron component of the matrix element of the decay by
substituting Eqgs. (9) and (10) into Eq. (8); but before we evaluate this: let it be noted that for true
generality, one should take the hadron current to be:

7, () [Frr¥ + 20mQ, + i QH
+Gw“75+§40“”@w ] Q“ } s(p), (18)

but this is a lot more complicated and best left to the theorists .. .see the paper by Nieto [3] (which
doesn’t even consider scalar components!).
So, armed with simplifications (11) and (12), we begin evaluating the matrix elements:

Scalar :

Mféad = <T/Ji/so‘7+|1/’iso> <¢;pa|¢8pa> x ﬂT(k)uS(p)
= My x VEIVE T () 525d) (X )
2

~ M EVEE (1 {7 B Y ] (19)

The product of the initial and final spins is 1 if » = s, otherwise it is zero. Thus scalar hadron
currents require the spin does not change in the decay.



Vector :  case (a) =20

Mgt = MV NVEFIT (o 2k A)<H ‘)><5%S)
2

r B4 Xr) \0 I A0
- M IMNE! M’ 1 M 2
= MpV2MVE' + + CESTd) xixs |- (20)

Here, as with the scalar case, the spin is not changed in the decay.

Vector :  case (b) =1

) &k 0 o Xs
M2 = MpV2MVE + M (XI E/H’},xi) ( 5 0) (&ﬁx )

78

—

= MpvaNVE 5 (2 (21)

o
oM BT M')XTUXS]
This time, the Pauli spin matrices do change the spin, i.e. x{&x, # 0 only if 7 # 5. As we are
considering 0t— 07 decays, this term will be zero and we can ignore it. We therefore only have
to consider the time component of the Hamiltonian Eq. (8).

In the limit that |k| < 2M and |p] < E’ + M’, the hadron currents for both scalar and vector
transitions are the same:

Mbad and Mbad MpV2M~E + M. (22)

&, |51 < M, M’

2.2 Trace Analysis

Going back to our invariant amplitudes and including the leptons:

Mg = Mp~\/2M(E' + M) M2 T, (p (C’g — 0{5*75)115(]?@)7 (23)
My = Mp\/2M(E' + M) gwgo"* 7 (Cy + Ciys ) vs (pe)- (24)
Also, let us put the strength of the weak interaction in terms of Fermi’s coupling constant:
2 2 2
Jw GF G 2
TR (stg) =20 (@)

Upon squaring the matrix element, we will get four terms: |[My/|?, [Mg|?, and the cross terms
MgMV and MLMS. Let’s start with |Mg|?, summing over the final states of the lepton spins?:

3 IMsf? = [(Ms)? = 2M(E' + M)\ Mp[*2G% Y [ )(Cs — Clyys)

spins spins

X (VOur(pV))ﬂr(pV)(Cg - Cg%)“s(pe)}
= AM(E + M| Me*GE Y | (0:(pe)7s(pe) (Cs + Cs)

spins

< (e (00 (1) (C — )|

= AM(E' + M")|Mp[2G} Tr|(be — me)(Cs + C1s)

X (py +m,)(Cg — C5)] (26)

2Since this is a 0Y— 0T transition, there are no spins to average over in the initial state.



Now recall some of the useful trace theorems:

Tr(AB) =Tr(BA)
Tr(odd number of y—matrices) =0
Tr(ys) =Tr(vs 4) = TT(%/W)
Tr(l) =
Trap) =4a-b
Tr{ay" by’ = 4(a”b” +a"b —a- bg“”)

Using these, we can finish evaluating [(Mg)|?:
(Ms)[2 = AM(E' + M")|Mp[2G} Tr| b (Cs 5uC5 — Csvs h,CE )
— MeMy (CSCE’ - C,/S’75C,IS*75):|
— AM(E' + M')|Mp[G% Tr| pe pu (ICsl* + C[?)

—mem, (ICs[? — |C5?)]

((Ms)|? = 16M(E' + M")E.E,|Mp|*G%

(10sl? +1c4?) (1 - B2

E.E,
MMy,
— (ICsl” = |Cs ) T E (29)
Now the vector case proceeds in the same manner:
(M) = AM(E' + MO)IMePGE Y [0l(pe)(5°1°) (Cv + Cyp5)7°
spins
x (7 ur (p0))r (p)7° (C + 0(}‘75)%(17@)}
= 4M(El + Ml>|MF‘2G2F Z {(Us(pe)ﬁs(pe))fyo (CV + C(/’YS)
spins
X (1n(p0)T ()7 (C¥ + C5) |
= AM(E' + M")|Mp[2G% Tr[(be = me)1*(Cy + Ci25)
X (by + M) (G + Cis) |
— AM(E' + M) MG} Tr | p2° (Cv 57°C + Cipys 71 Cii )
—mey? (Cvm,y°Cy + Cyysmuy O 75)}
[(My)|? = 4AM(E' + M")|Mp[*G% [(ICvl2 +Cy ) Tr(per’ p7°)
— (ICv 2 = 1G4 P)mem, Tr(D)|
2 _ / / 22 2 /2 ﬁe 'ﬁu
(MV)IE = 16M(E' + M')VE.E, [Mr*G% | (ICv I + |Gy ) (1+ 222
memy
—(ICv PP =GV ) 5~ (30)

In the last line, we use the special case of Eq. (27f) where u = v = 0 to get Tr(hy° pu2°) =

ECEV +ﬁ€ﬁl"




Finally, we do the cross terms:

(M) = (M) Ms) + (MEMy)

=4M(E' + M")|Mp|*G} ) “v )(Cv + Civ5)7°

spins

X (’your(p,,))ﬂr(p,,)(cg - Cg'VB)US(pe)}
+ [UI (Pe) (CS - CZS‘75)70UT (py)r (pu)’yo (C\*/ + C{;’%)US (pe)}]

= AM(E' + M')|Mp[G% Tr[(be = me)7*(Cy + Cas) by + m,) (C — C535)
+ (be = me) (Cs + CE15) (o + M)y (C3 + Cis)|
= AM(E' + M")|Mp|2G2 Tr [ b (Cym, C5 — Clyysm,, C5 s )

- mefyo (CV /ﬁucg - C\//'Y5 /ﬁl/cg’k’}%)
+ he(Csm,y°Cy + Caysmuy O ys)

—me(Cs puy°Cyr + Civs @700(}*75)]

(MY g) = AM(E' + M")|Mp[2G} Tr| permy, (Cv C% — CCY + CsCyy — C5CF)

— hA"me(Cv Cs + Gy CE + CsCy + C5CY) | (31)
Now note that
o | (E OY [ 0 &F\|(1 0
= (0 -E) \-37 o0 0 I
_(E &7
—(M7 E) (32)
S0 Tr(py°) = 4F. (33)

Also note that only the real components of Eq. (31) survive (i.e. CsC{, +C§Cy = 2Re(CsC) =
2Re(CECy ), and similarly for the primed ones), so:

(M3 g) =16M(E' + M')|Mp|>G3. |2Re(CsCyy — C4CY)my, E

—2Re(CsCy 4+ CsCY)meE, | .

(34)

Finally, we put them all together to get the total matrix element:

1
(Mi)|? = 516M(E’ + M')E.E, G2

ﬁe ) ﬁu
E.E,

M2 (ICs P +ICE + 1OV 2 + |Gy )
* * m
—|—2\MF|2§R6<CSCV _%C'V)E

—Z\MF|2§R6<CSC{} + cgo’v*)%

MMy,

E.E,

~IMp2(ICs? ~ [C4[? + ICv 2 = |Gy )




This can be re-written as:

DPe - Pv +beme —‘rb,,my

1 7
e TE TME,

(Myi)|? =8M(E' + M")E.E,G% ¢

MMy
+beym 5 (36)
with : E= |CsP>+ |05 +|Cv]? +|Cy 2 (37a)
ag = |Mpl*(—|Csf* — G52 + [Cv * +ICV ) (37b)
b = 2AMp|*Re(CsCy + C5CY ) (37¢)
by¢ = —2|Mp|*Re (csc; - c’sc’v*) (37d)
bt = IMe[*(ICsl? = IC5* + Cv 2 = |Cy ). (37e)
3 The Decay Rate
The decay rate is derived from Fermi’s Golden Rule:
1 B3k d3p, d3p,
F = NE v ° 2 454 - - - Pv
[ 1Mo | mme Goes mopaE | B e —k—p—p). (39

The matrix element, M;, was derived in the previous section. Had we used the hadron current,
Eq. (18), we would have ended up with a function, F(Q?,p-p, ), which is given by Nieto [3]. For pure
Fermi decays (all G; = 0) and assuming no second class currents (F3 = 0), his expression greatly
simplifies to:

F(Q*p-p) = It {2p-pu(M’2 — M +m2—2p-p,)
+2Q% - py — HQ2+mB)(QF + M — M?) + MM'(Q* + m?)]
2 2 12 /
2 [QF+ M=+ M M } [ 9
_ e L= |[8(p-p,
Bl @ * 7] [8e-p)
—dp-p (M = M2+ 2 + Q%) + 1(Q% + m?)]
+ fife [8(p-py)2(1 +50) = 202 [(1+ ) (2Q7 +m? +2M7
—2M?) + 2m2] — (2MM’ — 2M? — m?)(Q% + mg)} . (39)

(believe it or not, this is simplified!)
So in what follows, we will use the simpler hadron current, and use the matrix element as given
by Eq. (36).

3.1 Mandelstam Variables and Maximum Energies

As Tan shows in his report [4], it is useful to know the maximum energies of the decay products, and
that we can obtain them from the Mandelstam variables, s, ¢t and u. First, let us look at s:

s=—(p—p)=—(k+p.)’ “0)
M2 —2ME, +m2 = M"?+2E'E, — 2k - i, + m2
X )

By = go (M2 4 m2 = M? — 2 — 25 B, +2F - . (41)

The maximum neutrino energy, comparable to Ian’s [4] Eq. (9), is obtained by setting k=p. =0,
E' =M and E, = m,:

M2 4 m2 — (M +m,)’
2M '

max __
B =

(42)



The maximum recoil energy can be derived from the ¢ variable, which is just the negative square
of the momentum transfer:

t=—(p—k)*>=—(pe +pv)’ (43)
M2 — 2ME’ M"? =m? +m? +2E.E, — 2p. -,

E = 2M (M? + M"? —m2 —m2 - 2E.E, +2p, - ) . (44)

This has a maximum of (setting p, = p, =0, E, = m. and FE, = m,):

M2 + M/2 _ (me + mu)2

() = . (45)
Finally, we get the 8’s energy from the u variable:
—(p—pe)? = —(k+p,) (46)
M? —2ME, +m?=M"?+2E'E, — 2k -, + m?
1 -
.= o (M2 +m2— M? —m2 - 2E'E, + 2k -ﬁy) : (47)
which has a maximum of (setting k= Py, =0, E' =M and E, =m,):
max M2+m2_(MI+mV)2
Ee = . 2M (48)
and let us define, for a massless neutrino:
_— M2 _|_m M/2
A, = E™(my, =0) = ———— (49)

2M

Of course, as with the maximum (3 energy, all of these expressions agree with Ian’s report [4] if
we set m,, = 0. Note, however, how the symmetry of Eqs. (42), (45) and (48) is made more apparent
when the neutrino is not considered massless.

3.2 Integrations

Integrating Eq. (38) over B3k using the §3-function we get:

GEI(Myi)|* d*pe d°p, /
I'= / (27)54ME’ 2F, 2E ~ (M = B = B — By). (50)

We will now attack the integration over the unobserved neutrino energy using the J-function.
We start by defining a function to be its argument:

f(E,))=M-FE(E,)—E,-E,, (51)

so that we can use the following property of the §-function to do the integration over dE,:

/ 5IF(E)] = / m 5(E, — ED), (52)

where E” are the roots of the equation f(FE,) = 0.
As made obvious in Eq. (51), the recoil energy is a function of the neutrino’s energy, and therefore
it’s momentum. So, let’s put it in terms of p,:

E'=ViE2+M?,  k=p.+p, (53)
= \/(ﬁe +py)?+ M
= [p? + p? + 2pepy cos O, + M'?H/2 (54)

so that the derivative of E’ with respect to E,, is

d dp
dEVE ZE,(Zpﬁ 2pe cos%)ﬁ
(Pv + pecosbe,)E,
- " , (55)



where we used ggi = %. The derivative of f(E,) is therefore:

B, (py + pe cos be,)
(By)=—(1 : 56
7(B) ( + ot -
so that
L pE’
\f(E))|  puE + Eupy + Eype cos b,
E/
- E'+E,+ %pe cos 0.,
M-E.—E,

(57)

M- E, + %pe cos 0.,

~1-— % (EV + %pe cos@e,,) .
Now, we need to find the roots of Eq. (51), E”. It is at this point that allowing a massive
neutrino complicates matters beyond what I have considered. The problem comes from the pj,
term in Eq. (44). I think Ian ends up saying that if the neutrino isn’t massless, one needs to do a
derivation akin to that of Koefed-Hanson [5], which is pretty messy ...
So, taking E, = p, and dropping terms of order 1/M? and 1/M"?, we substitute Eq. (44) into
Eq. (51) to get:

M?4+M'?—m2?2—2E.E"+2p. cos 0., E"
ny __ _ mn e el e evilv,,
f(EU)—O—M—Ee—EV— SiT

B2 [1+ 5k (200 00500, — 2B,) | = M = B, — 3k (M + M = m?)

B0 - o pecont) = (2N WP % ) 5

n Ao - Ee
E} =+
7 (M — E¢ + pecosOey,)
M(A. — E.
o ( ) (58)

V" M — E. + pe cos O,

~ (A, — E,) [1 + %(Ee — Pe COS 961/):|.

At this point, I’d just like to point out the comparison of this expression (which is the same as
Tan Towner’s Eq. 20 [4]) to that of Eq. 2.12 in Ortiz’s thesis [6]:

M? — (M’ +m.)?+m?—-2ME,

(B )ortiz = 2(M — E. + pecosf.,) (59)
M? — M"? +m?—-2ME, 2meM' +m?
- 2(M — E. + pe cosb,,) B 2(M — E. + pe cos 0.,,)
_ g me(2M' + m,) (60)

2(M — E¢ + pecosfe,)

Since I derived Ian’s expression from scratch and understand each step, I believe it is correct, and
not Ortiz’s which is decidedly different. The fact that they differ essentially by the electron’s mass
cannot be coincidental .. ..

Now we finish evaluating the decay rate ... from Eq. (38),

G% ) E" + p. cos b,
2y M

“ 16ME'E.E,’

r= / dE.dQ.dS, PIE? poE

10



Let us evaluate the terms involving E)' and simplify:

E} e 50 mn 1 e e COSOcyp
(11— Bpgoston ] ()2 = [1 = — (Ao — B, (1+ B — ecgiti)]
2

M
X (AO — Ee)2 [1 + %(Ee — Pe COS 051,)}
ST IR LS R TP,
~ (A, — E,)? {1 - Ao — Ee Lpe €08 ber + %(Ee — Ppe COS 961,)}
= (Ao — E.)? {1 43— 4 Xj’pe cos 08”}, (62)
so that Eq. (61) becomes:
r— [ de.d0.0, (%SpeEe(Ao 2|14 2B A Ao 06”] 16%\2@;. (63)

3.3 The Differential Decay Rate

We've done everything now. All that is left is to put our expression for [(M;)[?, Eq. (36), into the
decay rate, Eq. (63). Including the Fermi function, which is briefly described in the next section,
the differential decay rate for a pure Fermi 87 transition including recoil-order corrections (but not
massive neutrinos or radiative corrections) is:

d°T G% 3E, — As — 3p. cos b
_ eEe Ao - Ee 2 1 e o e ev
JE.a.d, ~ m)p el N M
1 ’ ’ Pe * Dy Me /
X M EE.E, S8M(E'+ M"E.E,£|1+a E.E, + be E. F(E.,Z',R)

d°T G% Ao —3(Ee —pecosbe,) | |1 /
= eEe 14o_£§‘e2 1- - - - = -1 M/
dE.d0,d, — (2m) Dol ) M 5 (1)
pe me :
x & 1—|—aEe cos@el,—&—beEe F(E.,Z'|R).

(64)

3.4 Massive v’s
The decay rate, Eq. (64), is only valid for m, = 0, but we need some sort of expression that includes
it for M. Trinczek’s analysis [7]. Consider Eq. (4.20) of reference [8]:

N
x F(E., 2, Rp.E. Y Uil [ E2™(0) - E.] 2
i=1

ar
dE,

1
2

O (EI™(my,) — Ee) (65)

2

Vi

[Erex(0) — E.]’

where ©(z) =1 if © > 0 (otherwise zero) is the usual step function, E2**(m,) is given by Eq. (47),
and Ug; is the mixing strength of an electron neutrino with that of any of N massive v’s; this is
defined by relating the weak eigenstates, v;, (j =1,2,...,N) to the physical v; (i = e, pu,7,...):

V; = UZI/ 66
377
J

In the case of an electron-neutrino mixing with one type of heavy neutrino (N = 2), we get a 2 x 2
matrix which can be characterized by one parameter; can define a mizing angle, 9:

Vel [ cosf sinf 1
<VH> o (— sinf cos 9) <V2> ’ (67)

11




or, wee can define U,y = sin 6 so that:

(Ve> V 1- |UeH|2 UeH <V1> ( )
= . 68
vy —U.y V1—=1Ucg|? Vo
Thus we get the decay rate:
F(E.,Z', R)p.E.[Ao — E.]*
JT it B, > EX*™(my,,) (69a)
dE, ;
F(Ee, Z', R)peEe[Ao — E]” | (1= [Uet?) + |Uen 1 — gt 1
if B, < EX"*(m,,,) (69Db)

where we have substituted A, = EM**(m,,,, = 0).

Going back to the start of §3.2 (integrating the decay rate), the J-function in Eq. (50) is simple
to solve if we neglect recoil-order corrections; it is simply given by dropping the 1/M term in the
approximation of Eq. (58):

E,=A, - E.. (70)
Now we define the magnitude of the neutrino’s momentum as:
Pv| = vV EZ —mZ, (71)

which is true whether m, = 0 or not. We can then use just one (i.e. simple!) expression for the
differential decay rate, namely (dropping the mixing strength for the moment):

d°T'(m,) G2 Pe " P
v) E. |p,|E, F(B.,Z',R) €1+ aPe v
AE.d0.d, = (n)p PePe PvlBy F( N Ews
Me my MeM,
+beE+bVE+beym , (72)

(the parameters b, and b, are included for generality but should be set to zero, and experiments
limit 0 < |b.| < 0.007). The only sublety is in how we interpret it, and when we include a neutrino
mass. Breaking up the problem into two energy regimes (i.e. whether mixing is allowed energetically
or not):

1. If E. > EP**(m,,, ), then no mixing can occur and the decay rate is:
d5rmassive _ d5F(ml/ = 0)
dE.dQ.dQ,  dE.dQ.dS,
and since m, = 0 in this case, |p,| = E,. Also in this case, one gets the familiar a*“ cos 0.,
term in the angular distribution.

2. If E, < E™*(m,,, ), then we have a different probability function. On the basis of Eq. (69b),
the decay rate with no mixing is only affected by the global normalization (1 — |U.x|?) factor,
and we add in the decay rate for events where mixing has occured:

d5rmassive o dSF(mu = O) dE’F(mV = muH)

(73)

2 2
AEod0.d0, — dbudn.dn, Vel + —gpean, Wenl (74)
———
massless v massive v

This says, then, that event generation of m, = 0 is calculated exactly the same as when
E. > E®*(m,,, ), but the total decay rate in this case contains additional strength to generate
massive v’s; the expression is the same as for m, = 0, but |p, | # E, and the rate is supressed
by the square of the mixing strength, |Ux|?.

As far as my MC is concerned, the decay rate was implemented in the following way: first check
if decay allows mixing energetically. If it does not, then just generate a m, = 0 event. If mixing can
occur, then calculate the decay rate for m, = 0 and compare it to a randomly generated number
between 0 and the maximum decay rate (which includes both terms in Eq. (74); calculated upon
initialization). If the random number is less than the decay rate, generate a m,, = 0 event; otherwise,
check if the random number is less than the sum of the decay rates of the m, = 0 and m, = m,,,
cases. If it is, then generate an event with m, = m,, (otherwise start all over).
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4 The Fermi Function

The “traditional” function includes relativistic effects, but treats the nucleus as infinitely massive,
evaluates the integrals only at the nuclear surface, R, and does not include screening effects. With

v=V1-a2Z? a=e?/4r and n = +E,/p., it is given by:

2(y—1) e |F(7 + ”7)|2 (75)

F(EG,Z/,R) =2y +1)(2p.R) |F(1+2’Y)|27

where Z' refers to the the daughter nucleus and 7 is negative for 3% decays. The nuclear radius can
be given in two ways, the simplest being the well known:
R=1.2AY3 fm. (76)

However, if the root-mean-square (RMS) charge radius, Rrus, is known, it is better to assume the
charge is homogeneously distributed within the spherical nuclear volume so that:

)

It seems a waste of time to retype the lengthy results of Wilkinson’s parameterizations, so the
reader is referred to [9]. Let me just outline a couple of points one should know when reading this

paper:

e He works in units where m, = h=c=1, i.e.

W = E./me, (78a)
Wo = Ao/me’ (78b)
and p =+ W2 - 1. (78¢)

e His quote that “R = 2.5896 x 1072 x R [fm]” is simply the conversion:
. Me
R [unitless] = h—R [fm]. (79)
c

e He does not include screening effects, but this is can be included on the basis of the simple
Eq. 6 in [10].

e I have not looked closely at [11]; I really should one day ...

Figure 2 shows a plot of the Fermi functions with differing amounts of corrections applied.
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Figure 2: Comparison of corrections to the traditional Fermi function for 8% decay.
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